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END SEMESTER.

Semester -

(a) Engineers

(c) Both (a) and (b)

Subjee$ Code : CT,

CONSTRLICTION METHODS
ANT} MACHINERY

Fult Marks - 7A

Time -- Three hours

The figures in the margin indicate full rnarks

for the questions.

Instructions :

1. All questions of PARI-A are compulsory.

2. Answer all questions from PART-B.

PAKT _ A

Marks - 25

i. Choose the correct answer from the options given

bclorry the statement: 1x10:10

(i) Construction economy is a responsibility of

(b) Contrators

(d) Client
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